[T
Holley

Holley Accessory Drive Kit
Part Number 20-155

Table of Contents

= T ] o OO PP UTRPPRRPPP 2
Driverod6s Side Br.acket..l.nst.al.l.at.j.on . ... 3
AILErNALOr INSTAIATION: ...t e e e e e e e e e e e e e s e as 4
P/S PUMP/RESEIVOIr INSTAIIALION: ... .euiiiiiiiiiiiiiiiiiiiiiiiiiiii e eabeasesssssnnssensnsnnnnnnnnes 5
P/S and Idler Pulley Installation (POSItION OPLIONS): ......uuuuiiiiiiiiiiiiiiiiiiiiiib e 6
Belt Routing & Length CalCUlation: ............cooiiiiiiiiiiii e e e e e e e e e e e e e e anaan s 7
LAV =T = U 12 L0 1 0= e o U 8



Parts List:

1 If used with Long belt alignments, this bracket requires installation kit part #
21-4. For Middle alignments no installation kit is required. This bracket will
not work with Standard alignment.

Parts included with 20-155 bracket kit (see list supplied with installation kit for additional parts):

PICTURE QTY DESCRIPTION APPLICATION
1 Driver6 Side Bracket Assembly Alternator & Power Steering
Pump
Use with standard alignment
1 Tensioner spacer tensioner to move to middle
P belt alignment (NOT used with
Long belt alignments)
1 Step Spacer Driver6 Side Idler Pulley
1 | Socket Head Cap Bolt, M10 x 1.5 x 105 | Sracketto Head (NOT used
with Long belt alignments)
\ Bottom Alternator Bolt to Block
(@ 1 Socket Head Cap Bolt, M10 x 1.5 x 105 (NOT used with Long belt
< alignments)
1 Socket Head Cap Bolt, M10 x 1.5 x 80 Top Alternator Bolt
3 Flange Head Bolt, M8 x 1.25 x 35 Power Steering Pump Bolts
1 Flange Head Bolt, M10 x 1.5 x 50 Idler Pulley to Bracket
Tensioner to Water Pump
2 Flange Head Bolt, M10 x 1.5 x 60 (NOT used with Long belt
alignments)
Bracket to Upper Head
1 Flange Head Bolt, M10 x 1.5 x 90 (NOT used with Long belt
alignments)
Bracket to Lower Head
1 Flange Head Bolt, M10 x 1.5 x 100 (NOT used with Long belt

alignments)




Dri ver 6 s SimdtallatBbn:ac k et I

Align spacer cosmetically
to the bracket before
tightening the bolts.

This spacer is supplied in
installation kit 21-4. A
spacer is not required for
applications utilizing
Middle belt alignment.

These M10 bolt lengths are specific to
pelt alignment. If the application utilizes
a Middle belt alignment, bolts are
included with this 20-155 kit. If installation
is on an application with a Long
alignment, use bolts supplied in the 21-4
installation kit.

NOTE: Torgue M8 bolts to 18 ft./Ibs. and M10 bolts to 36 ft./Ibs.

3



Alternator Installation:

MT10 X 80
socket
cap head

This M10 bolt
lengths is specific
to belt alignment.
If the application
utilizes a Middle
pbelt alignment, it is

included with this 20-155 kit. If installation is
on an application with a Long alignment, use
bolt supplied in the 21-4 installation kit.

This spacer is
supplied in
installation kit
21-4. A spacer s
not required for
applications
utilizing Middle
belt alignment.

NOTE: Torgue M8 bolts to 18 ft./Ibs. and M10 bolts to 36 ft./Ibs.

4



P/S Pump/Reservoir Installation:
If installing 198-202 power steering AN adapter/tube, assemble at this time.

Step One Step Two Step Three

Hand fight Torque

all bolts

M8 X 35
flange head

NOTE: Torgue M8 bolts to 18 ft./Ibs. and banjo bolt to 25 ft./Ibs.
5



P/S and Idler Pulley Installation (position options):

NOTE: Torque M8 bolts to 18 ft./Ibs. and M10 bolts to 36 ft./Ibs.

See [glERINE[E for water pump applications
and associated tensioner assembly.










